4 HMEAORREESEFE-E(BEMRICHLEMTEHE)

) 106
" _ RV
No. | B E%%*ﬂjﬁ_% (B2EE: 57 16 £F)
) (KR&-8#) " .
=4 =2 = 5 v
eukos| gumn | FE2T sunns| gumn | FE27 | AREAEL ) gy
=3 am = =5 A B&
1|7B= JEAES B 3.6 ha ha 85 2 3.6 ha ha 1
2|8 EhEr R 14 ha ha |EEHhEF 5 14 ha ha 2
3B EhEr R 1.2 ha ha |EEHhEF 5 1.2 ha ha 3
v == 1rg ==
4 FEAE B 7 ha ha [RAECERHE) oy, ha 4
B BFx
5|8 TEEsEE 2.2 ha ha |FEE$EE 2.2 ha ha 5
6|RE T}Ef’%ﬁ*ﬁ 2 ha ha j};f%%ﬁ*ﬁ 2 ha ha 6
VAE=IBES B 1.2 ha ha |83 1.2 ha ha 7
8|:RE Fh R 29 ha ha |EHEE 2.9 ha ha 8
9|FRE Fh R 1.4 ha ha |[EHh 5 14 ha ha 9
) MR E=+ M E =+
10|52 2 EhEr R 0.1 ha ha |EEHhEFER 0.1 ha ha 10
+FafE +FEfE
1|22 Fh R 1.6 ha ha |EEHEFEE 1.6 ha ha 11
12|22 BEihE R 4.3 ha ha |EEHEFEE 43 ha ha 12
13|3B 8 Fh R 5.9 ha ha |EEHEFEE 6.2 ha ha 13
14|3R8 EHhEr R 3.1 ha ha |EHh B3 3.1 ha ha 14
i EHhEF R FHhFE
158 + e % B 4 ha ha |+ EE%EF 4 ha ha 15
x® *
162 & EHh TR 0.9 ha ha |EHh B3 0.9 ha ha 16
17|88 EHhEr R 1.6 ha ha |EHh B3 1.6 ha ha 17
18(FE TRfE 9.3 ha ha |FRfE 15.4 ha ha 18
i RE)+ @)+
19[52 & FEHhFF S+ 1.3 ha ha |EHhEF 5+ 1.3 ha ha 19
TR Ta1E
20(FIAE g"ﬁﬂ]’ 0.6 ha ha f‘%ﬁ"ﬂ"%’ 06 ha ha 20
o == T ==
HEE MR+t R+t 1
2 = B3 3 ha ha B3 3 ha ha 2
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23(RE I=%EY 0.1 ha ha | T 0.1 ha ha 23
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— M E=E e E=
24|38 = &) 05 ha ha () 0.5 ha ha 24
25| & FHh R 0.2 ha ha |B#EE 0.2 ha ha 25
FEHh R+ T+
26|3R& MR =+ 0.2 ha ha |MEERE=+ 0.2 ha ha 26
FElE TE1E
27|B& T 0.5 ha ha |E=thEF 3 0.5 ha ha 27
. RE+E= RE+E
28 |5 = B 0.5 ha ha hES 5 0.5 ha ha 28
EHhEFR R+ T+
29|BE IE4%EMY 0.1 ha ha | TZ%EH 0.1 ha ha 29
(&%) (fEE)
== 7, == A
30| %ﬁgij" 0.3 ha ha ;g?;i' 0.3 ha ha 30
. =y o r =
KIS Fh R 0.8 ha ha |EEHEFEE 0.8 ha ha 31
2|2 Fh R 1.2 ha ha |EEHEFEE 1.2 ha ha 32
33|RE TREHRE 0.3 ha ha |FREFEE 2.9 ha ha 33
KZIER: TREHRE 0.8 ha ha |FRE$EE 5.1 ha ha 34
35|FRE TRZHE 33 ha ha |FREFEE 48 ha ha 35
36|FRE TRZHE 11.6 ha ha |FREFEE 28.8 ha ha 36
37|FRE TRZHE 2.1 ha ha |FREFEE 4 ha ha 37
. BB+ T BT+
38|:RE prebgin 0 ha ha prebgin 0.1 ha ha 38
. ITEEY IT=EY
39|3RE TR 0.8 ha ha TR 0.8 ha ha 39
40|FB2 RHEY 0.7 ha ha |R#H(3) 0.7 ha ha 40
i EHh B+ FHhFFE+
IANERY MEEREP R+ 0.4 ha ha |MEE%EF 3+ 04 ha ha 41
FafE TE1E
2|RE TRZfE 155 ha ha |FREFEE 405 ha ha 42
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45|3R & MRE= 0 ha ha |MEERE= 2.9 ha ha 45
(8) (&)
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i FHh R BB
47(R& + MR E 7.3 ha ha |+ FEE%E 7.6 ha ha 47
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i BEHh R EHET R
48| (+5fEE%- LY 0.1 ha ha |(+3%%- L\ 0.1 ha ha 48
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49|3BE + EHhE 14.7 ha ha |+ ZEHE 299 ha ha 49
50(ER& T 1.2 ha ha |EHhEF 3 1.2 ha ha 50
51(B& EhEr R 4 ha ha |EEHEF I 4 ha ha 51
= HE+EE TR+
e FEAF+ 55 4h ha |TETE 4h h 2
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53|ERE Fh R 1.8 ha ha |[EHh 5 2.1 ha ha 53
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Miae= T B3 25.7 ha ha T B3 32.1 ha ha 54
55|3B & MERE= 0.4 ha ha |fEEkE= 0.4 ha ha 55
56|32 R 0.4 ha ha |4t 0.4 ha ha 56
57|FRE TRZHE 8.9 ha ha |FREFEE 14.6 ha ha 57
58|FRE EHhEr R 0.1 ha ha |EHh B3 0.1 ha ha 58
59|FRE EHh TR 0.5 ha ha |EHh B3 0.5 ha ha 59
60|FE = EHh TR 2 ha ha |EHh 3 2 ha ha 60
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63|FRE EEREP R+ 0.7 ha ha |MEE%EF 3+ 0.7 ha ha 63
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64|3E 2 EhEr R 9 ha ha |Eh B3 9 ha ha 64

65|FI A& FElE 2 ha ha |FB1E 2 ha ha 65




